
 10.3  17.0
M12X1.75 - 6H  12.0

12X  11.9 THRU ALL

190.5 292.1

17
0.

0

278.4

55
9.

0

42.8
(CoG)

195.5
A

A

OIL DRAIN PLUG
M27x2.0 METRIC PORT

CONFORMS TO ISO 6149
TIGHTENING TORQUE 75 7 Nm

15.0mm CLEARANCE REQUIRED
TO REMOVE DRAIN PLUG

OIL STRAINER
M12X1.75 TAP, 12.0 DEEP
91.4mm CLEARANCE REQUIRED
TO REMOVE SUCTION SCREEN

TEMPERATURE PICK-UP
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

TBC

SECONDARY CLUTCH
SHAFT CL

LUBE PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

G

OIL GAUGE

DIRECTION OF

R.H. ENGINE
ROTATION

CENTER OF
GRAVITY

BREATHER & OIL FILLER

PRIMARY
CLUTCH SHAFT CL

OIL OUTLET TO HEAT EXCHANGER
M27x2.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 75±7 Nm

QHXO

A

3 4

18.0

17.8

152.375±0.025

PILO
T228.6

17
7.

8

20
7.

8

11.1

40
9.

4

14.0°

13
4.

4
(C

oG
)

156.6
(CoG)

B

B

C

C
PRIMARY CLUTCH
PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

ZPC1

LUBE PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

G

OUTPUT SHAFT CL

29mm CLEARANCE REQUIRED
FOR ELEMENT REMOVAL
TIGHTEN FILTER TO 20 2Nm

CENTER OF
GRAVITY

A

A

1
2

386.0

18.0

169.3
TYP.

226.4
TYP.

283.6
TYP.

518.1

17
7.

8

38
.1

TY
P.

16
5.

1
TY

P.

32
6.

1
TY

P.

SECONDARY CLUTCH
PRESSURE PORT

M14X1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 20 2 Nm

ZSC1

SECONDARY CLUTCH
PRESSURE PORT

M14X1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 20 2 Nm

ZSC2

15.5mm CLEARANCE
REQUIRED TO

REMOVE PUMP

M16X2.0 THREAD, 25.0 DEEP
18 HOLES (9 EACH SIDE)

USE ALL (18) HOLES FOR MOUNTING
USE GRADE 5 QUALITY CAPSCREWS

PER S.A.E. J429 AND TORQUE TO
S574 OR SERVICE MANUAL VALUES.

M16X2.0 THREAD, 25.4 DEEP
3 HOLES

(1 HOLE THIS SIDE AND 2 HOLES OTHER SIDE)
USE THESE HOLE FOR MOUNTING

USE GRADE 5 QUALITY CAPSCREWS
PER S.A.E. J429 AND TORQUE TO

S574 OR SERVICE MANUAL VALUES.

1

2

35
.5

FO
R

 E
YE

BO
LT

20
0.

2
FO

R
 E

YE
BO

LT

162.0
FOR EYEBOLT

248.4
FOR EYEBOLT

ENGAGES SECONDARY
SHAFT CLUTCH
SEE NOTE 'A'

ENGAGES PRIMARY
SHAFT CLUTCH
SEE NOTE 'A'

OUTPUT SPEED SENSOR
5/8-18 UNF THREAD
SEE NOTE 'E'

SO

INPUT SPEED SENSOR
5/8-18 UNF THREAD
TARGET WHEEL : 54 TEETH
SEE NOTE 'D'

 SI 

SEE NOTE 'C'

MAIN PRESSURE
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16 1.5Nm

X

M16x2 THREAD, 30.5 DEEP 
2 HOLES FOR STD' EYE BOLTS. 
THESE HOLES MAY BE
USED FOR LIFTING MARINE
TRANSMISSION ONLY

MANUAL DIRECTIONAL CONTROL VALVE
5mm TRAVEL FROM CENTERED POSITION
(EACH DIRECTION)
SEE NOTE 'B'.

PRIMARY CLUTCH
PRESSURE PORT
M14X1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

ZPC2

OIL INLET FROM HEAT EXCHANGER
M27x2.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 75±7 Nm

QHXI

1

2

72.1
25.4
11.2
6.4

51
1.

11
15

±0
.0

63
5

40
9.

4

55
2.

5

43
8.

2±
0.

2 
H

.C
.

R
EF

.

53
0.

2 
H

.C
.

R
EF

.

SECTION A-A

11.9 DRILL THRU.,
12 HOLES,EQUALLY SPACED
USE GRADE 5 PROPERTY CLASS QUALITY
CAPSCREWS PER S.A.E. J429.

USE HARDENED FLAT STEEL WASHERS,
R 30N-61 MIN. UNDER SCREW HEADS
GRADE 5 MIN. AND TORQUE 71 Nm

FLYWHEEL OUTLINE MUST
CONFORM TO S.A.E. J620D, NO.355

SAE #1
MUST CONFORM TO SAE J617

14.0 0.2 DRILL THRU.,
8 HOLES EQUALLY SPACED

USE GRADE 5 PROPERTY CLASS 
QUALITY CAPSCREWS 

PER S.A.E. J429 AND
TORQUE PER S574 OR SERVICE

USE HARDENED FLAT STEEL
WASHERS, R30N 61 MIN.

UNDER SCREW HEADS

1

190.5 H.C.
REF.

VIEW B-B

RH ENGINE ROTATION
DRIVEN THRU PRIMARY

Ø22.6 (57/64") DRILL THRU.
8 HOLES EQUALLY SPACED

USE GRADE 5 QUALITY CAPSCREWS
EQUIVALENT PER S.A.E. J429 AND

TIGHTEN PER S574

VIEW C-C

MAIN PRESSURE
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

X

TEMPERATURE PORT
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 2 Nm

TAC

A.   PROPORTIONAL CONTROL VALVE OPERATION
       1. WARNING DO NOT CONNECT VALVE COIL
           DIRECTLY TO BATTERY/POWER SUPPLY VOLTAGE.
       2. OPERATION TO BE PERFORMED WITH ONLY TWIN-DISC
           CONTROL SYSTEM MODULES.

B.    MANUAL DIRECTIONAL CONTROL VALVE OPERATION
       1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
           POSITION, PUSH TO ENGAGE SECONDARY CLUTCH.
       2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
           POSITION, PULL TO ENGAGE PRIMARY CLUTCH.

C.    MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
        1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
            CONTROL VALVE IS IN THE CENTERED POSITION AND OPEN
            WHEN LEVER IS ACTUATED FROM CENTERED POSITION.
        2. CURRENT = 20 AMPS MAX.
        3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

D.    INPUT SPEED SENSOR.
        1. APPLY ANAEROBIC SEALANT PER MA908 TO SPEED
            SENSOR THREADS.
        2. ASSEMBLE SENSOR UNTIL CONTACTING THE GEAR TOOTH
            TIP AND THEN BACK OUT SENSOR "ONE" FULL TURN.
        3. USE JAM NUT TO SECURE THE SENSOR POSITION,
            TIGHTENING TORQUE 5 Nm.

E. OUTPUT SPEED SENSOR.
        1. APPLY ANAEROBIC SEALANT PER MA908 TO SPEED
            SENSOR THREADS.
        2. ASSEMBLE SENSOR UNTIL CONTACTING THE GEAR TOOTH
            TIP AND THEN BACK OUT SENSOR "TWO" FULL TURNS.
        3. USE JAM NUT TO SECURE THE SENSOR POSITION,
            TIGHTENING TORQUE 5 Nm.
        4. SEE TABLE FOR NUMBER OF PINION TEETH.

NOTES:
- REFERENCE S930 FOR TWIN DISC REQUIREMENT
  FOR PRESSURE AND TEMPERATURE ALARM LEVELS.
- UNLESS OTHERWISE SPECIFIED FASTENER
  TORQUE VALUES PER S574 STANDARD.

- ALL POINTS AVAILABLE FOR TESTING ARE CODED  

1  INPUT GROUP REFERENCE PLANE

2  PTO GROUP REFERENCE PLANE

3  LEFT MOUNTING BRACKET FACE

4  RIGHT MOUNTING BRACKET FACE

EQUIPMENT SHOWN:
- MGX-5114IV PER PX13200 ASSEMBLY
- SAE #1/SAE 355 VULKAN VKE-4015 SERIES
- GP VALVE WITH EC300 WIRING HARNESS

A

A

A

A

A

OUTPUT SPEED SENSOR
RATIO NO. OF TEETH
2.57 : 1 45
1.98 : 1 50
1.80 : 1 49
1.52 : 1 46
1.23 : 1 42
1.05 : 1 38

D C B A

1

2

3

4

EF

5

6

GHI

7

8

J

DESCRIPTION:

HEAT TREAT:SIMILAR TO:

WEIGHT:
MATERIAL:

SHEET:

DRAWN BY:

SCALE:

METRIC

DATE:

REV:DWG
SIZE: A0

RACINE, WI 53403 - USA
UNLESS OTHERWISE SPECIFIED

MACHINED DIMENSIONS
X.          0.75
X.X        0.25
X.XX      0.13

ALL ANGULAR TOLERANCES ±1°
GEOMETRIC TOLERANCING

PER ASME Y14.5M 1994

2
 WR  :

A 1 OF 1

1:4

INSTALLATION
MGX-5114IV

NOTICE!  THIS PRINT CONTAINS PROPRIETARY INFORMATION AND IS 
NOT TO BE USED IN ANY MANNER DETRIMENTAL TO THE INTEREST OF

TWIN DISC, INCORPORATED
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS 

GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT.

APPROVED BY:

MGX-5114IVFIRST USE MODEL:

FIRST USE ASSEMBLY:PX13200

REV CHANGE NO. DATE
04/04/2024ECNWF-103807A 

THIRD ANGLE
PROJECTION

CHECKED BY:
JMF

6/1/2016

PM

JMF

PX13358B
1025420W Rev. B 

  

 11

kg-m2

kg


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A
	Drawing View7
	Drawing View8
	Drawing View9


